Phasor Representation of AC quantities
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Phasor Representation of AC quantities
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Phasor Representation of AC quantities
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Phasor Representation of AC quantities
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Phasor Representation of AC quantities
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Phasor Representation of AC quantities
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Phasor Representation of AC quantities
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Phasor Representation of alternating quantities
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@ Two sinusiodal currents are given as
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Reponse of Pure inductor to AC input
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Reponse of Pure inductor to AC input
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Reponse of Pure inductor to AC input
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Reponse of Pure Capacitor to AC input
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Reponse of Pure Capacitor to AC input
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Reponse of Pure Capacitor to AC input
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Reponse of Pure Capacitor to AC input




Response of Resistor and Inductor series combination to ac input
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Response of Resistor and Inductor series combination to ac input
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Response of Resistor and Inductor series combination to ac input
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Response of Resistor and Inductor series combination to ac input
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Response of Resistor and Inductor series combination to ac input
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Response of Resistor and Inductor series combination to ac input
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Response of Resistor and Inductor series combination to ac input
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Response of Resistor and Inductor series combination to ac input

WY

b N NR— <L —

( R-Lognes Crvewnl)

P&N - \)mTW\

Xcogz(:cm- SN 6)_

n smL by |

QW- \mTm [COS&?LM)‘\'ZQD s\‘#}

PCN — \]mT\M 2T




Response of Resistor and Inductor series combination to ac input
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Response of Resistor and Inductor series combination to ac input
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Response of Resistor and Inductor series combination to ac input
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Response of Resistor and capacitor series combination to ac input
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Response of Resistor and capacitor series combination to ac input
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Response of Resistor and capacitor series combination to ac input
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Response of Resistor , inductor and capacitor series combination to ac input
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Response of Resistor , inductor and capacitor series combination to ac input
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R-L series circuit with AC input where inductor is Impure
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W)
3). AR-L series circuit is connected across 230/.30, 50Hz supply. The value of R is 2.5 ohms and
inductor L=0.2 H. Find current flowing through the circuit and power factor of the circuit.
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Q
4). Two elements series circuit is connected across ac source e=200\2 sin(Sk%t + 20 ). The current
flowing in the circuit is found to be 10VZ cos(314t-25%). Determine the paramerters of the circuit.
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9). A current of 5A flows through a non-inductive resistance in series with a choking coil when supplied at 250 V ,
950Hz. If the voltage across the non-inductive resistance is 125 V and that of the coil 200 V. Calculate the
impedance, reactance and resistance of the caoill, power absorbed by the coil and total power. Draw the phasor

diagram. C D\ \ o
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5). A current of 5A flows through a non-inductive resistance in series with a choking coil when supplied at 250 V ,
S50Hz. If the voltage across the non-inductive resistance is 125 V and that of the coil 200 V. Calculate the
impedance, reactance and resistance of the coil, power absorbed by the coil and total power. Draw the phasor
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5). A current of 5A flows through a non-inductive resistance in series with a choking coil when supplied at 250 V ,
50Hz. If the voltage across the non-inductive resistance is 125 V and that of the coil 200 V. Calculate the
impedance, reactance and resistance of the coil, power absorbed by the coil and total power. Draw the phasor

diagram. Co\\ . "
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=> ‘ 1 xl\_/-_? ..y — 9
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9). A current of 5A flows through a non-inductive resistance in series with a choking coil when supplied at 250 V ,
950Hz. If the voltage across the non-inductive resistance is 125 V and that of the coil 200 V. Calculate the
impedance, reactance and resistance of the coil, power absorbed by the coil and total power. Draw the phasor

diagram. Coll > y
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6. Two coils A and B are connected in series across a 240 V, 50 Hz supply. The resistance of Ais 5S¢
and inductance of B is 0.015 H. If the input from the supply is 3kWatts and 2kVAr. Find inductance of A
and resistance of B. Calculate volatge across each coil.
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6. Two coils A and B are connected in series across a 240 V, 50 Hz supply. The resistance of A is 5L
and inductance of B is 0.015 H. If the input from the supply is 3kWatts and 2kVAr. Find inductance of A
and resistance of B. Calculate volatge across each coil.
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6. Two coils A and B are connected in series across a 240 V, 50 Hz supply. The resistance of A is 5L
and inductance of B is 0.015 H. If the input from the supply is 3kWatts and 2kVAr. Find inductance of A
and resistance of B. Calculate volatge across each coil.
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7)A voltage e(t)=100sin(314t) is applied to a series circuit consisting of 10 ohm resistance, a 0.0318 H
inductor and 63.6 uF capacitor. Calculate (i) expression for current (ii) Power factor (iii) Active power.
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8). A resistance R, an mductor L =0.01 H and a capacitance C are connected in series when voltage
v = 400 cos(3000t-10 ) is applid to a series combination. if the current is i=10Y2 cos(3000t-55°) . Find R

and C. S lamET Ol T ek S YL T2
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Concept Admittance (Y )

ROt tine ® Recs procal af Twpedonce.
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= R-L Parallel Circuit
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_> R-C Parallel Circuit
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R-L-C Parallel Circuit
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1. Find current I1 and 12 in the following circuit. Find overall power factor of the circuit, Active power.

Draw phasor diagram of the circuit. B U L A
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2. Aresistor of 30 ohm and a capacitor of unknown value are connected in parallel
across a 110 V, 50Hz supply. The combination draws a current of 5A from the supply.
Find the value of unknown capacitance. The combination is connected across a 110 V

supply of unknown frequency, it is observed that total current drawn from the mains
falls to 4 A, determine frequency of the supply.
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3. In the following circuit, calculate i) total impedance (ii) total current (iii) power

factor (iv) Active and reactive power.
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4) A series combination of 0.5 H inductor and 90 ohm resistor are connected in parallel across 20 uF. Find
(i) the total current (ii) power factor of the circuit (iii) total power taken from the source. Draw phasor
diagram. A voltage of 230 V , 50 Hz is maintained across the circuit.
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